
 

 

ITI Refrigeration and Air Conditioning Technician 2nd Year Module 3 
Cooling tower and Water treatment 

 

(1). What is the reason for no water supply to induced draft cooling tower? | 
इंडयूसड डŌ ाɝ कूिलंग टॉवर के िलए पानी की आपूितŊ नही ंका Ɛा कारण है? 

(A)   Nozzle block | नोजल ɰॉक 

(B)   Fan is not working | पंखा काम नही ंकर रहा है 

(C)   Louvers damaged | लूवर ƗितŤˑ हो गए 

(D)   Water pump is not working | “वाटर पंप काम नही ंकर रहा है 

Correct Answer : D 

 

 

(2). Which type of water is having calcium carbonate content more than 180 
PPM? | िकस Ůकार के पानी मŐ 180 PPM से अिधक कैİ̵शयम काबŖनेट सामŤी होती है? 

(A)   Soft | मुलायम 

(B)   Hard | हाडŊ  

(C)   Medium | मȯम 

(D)   Very hard | बŠत हाडŊ  

Correct Answer : D 

 

(3). What is the effect on water tubes of condenser if the pH value of water 
becomes 3? | “यिद पानी का pH वैʞू 3 हो जाए तो कंडेनसर की पानी की निलयो ंपर Ɛा 
Ůभाव पड़ता है? 

(A)   Fouling | अवरोधन 

(B)   Scaling | ˋेिलंग 



 

 

(C)   Corrosion | जंग 

(D)   Descaling | डीˋेिलंग 

Correct Answer : C 

 

(4). Which performance parameter of cooling tower defines the difference, in 
between the water Inlet and outlet temperature? | कूिलंग टावर का कौन सा ŮदशŊन 
पैरामीटर पानी के इनलेट और आउटलेट तापमान के बीच अंतर को पįरभािषत करता है? 

(A)   Range | रŐज 

(B)   Cooling capacity | कूिलंग कैपेिसटी 

(C)   Blow down | ɰो डाउन 

(D)   Evaporation loss | ईवापोरेशन हानी 

Correct Answer : A 

 

(5). Which parts of cooling tower usually has a sump for cold water discharge 
connections? | कूिलंग टावर के िकन िहˣो ंमŐ आमतौर पर ठंडे पानी के िड̾चाजŊ 
कनेƕन के िलए नाबदान होता है? 

(A)   Fill | िफल 

(B)   Nozzles | नोजल 

(C)   Cold water basin | ठंडे पानी का बेिसन 

(D)   Drift eliminators | िडŌ ɝ एिलिमनेटसŊ 

Correct Answer : C 

 

(6). Which point of closed loop cooling tower system is shown for hot refrigerant 
entering? | गमŊ रेिůजरŐट के Ůवेश के िलए बंद लूप कूिलंग टॉवर िसːम का कौन सा िबंदु 



 

 

िदखाया गया है? 

 

(A)   W 

(B)   Z 

(C)   X 

(D)   Y 

Correct Answer : D 

 

(7). Which closest temperature of water is achieved in cooling tower if the 
efficiency is maximum? | यिद दƗता अिधकतम हो तो कूिलंग टावर मŐ पानी का कौन सा 
िनकटतम तापमान Ůाɑ िकया जाता है? 

(A)   Dry bulb temperature of air | हवा का शुʺ तापमान 

(B)   Wet bulb temperature of air | हवा का गीला तापमान 

(C)   Dew point temperature of air | हवा का ओस िबंदु तापमान 

(D)   Apparatus dew point temperature | उपकरण ओस िबंदु तापमान 

Correct Answer : B 

 

(8). Which component is not required for natural draft cooling tower? | Ůाकृितक 
डŌ ाɝ कूिलंग टावर के िलए कौन सा घटक आवʴक नही ंहै? 



 

 

(A)   Reservoir tank | įरजवाŊयर टœक 

(B)   Nozzles | नोजल 

(C)     Condenser | कंडेनसर 

(D)     Fan for cooling | ठंडा करने के िलए फैन 

Correct Answer : D 

 

(9). What is the reason for strainer and nozzle block in cooling tower? | “शीतलन 
टॉवर मŐ झरनी और नोजल ɰॉक का कारण Ɛा है? 

(A)   Algae | शैवाल 

(B)   Bleed off | खून िनकलना 

(C)   Hard water | खारा पानी 

(D)   pH more than 7 | 7 से अिधक pH 

Correct Answer : A 

 

(10). What is the name of part marked as X in a split casing pump? | िवभािजत 
आवरण पंप मŐ X के ŝप मŐ िचि˥त भाग का नाम Ɛा है? 

 

(A)   Casing | केिसंग 



 

 

(B)   Impeller | इɼेʟर 

(C)   Shoulder ring | सोʒįरंग 

(D)   Water deflector | वॉटर डेɢेकटोर 

Correct Answer : C 

 

(11). Which gas is produced by passing air through ultraviolet light for water 
treatment? | जल उपचार के िलए वायु को पराबœगनी Ůकाश से गुजारने पर कौन सी गैस 
उȋɄ होती है? 

(A)   Ozone | ओजोन 

(B)   Chlorine | Ƒोरीन 

(C)   Fluorine | ɢोरीन 

(D)   Nitrogen | नाइटŌ ोजन 

Correct Answer : A 

 

(12). Which gas is used for treating cooling tower water to destroy bacteria and 
virus? | “बैƃीįरया और वायरस को नʼ करने के िलए कूिलंग टॉवर के पानी के उपचार के 
िलए कौन सी गैस का उपयोग िकया जाता है? 

(A)   O₂ 

(B)   N₂ 

(C)   O₃ 

(D)   CO₂ 

Correct Answer : C 

 



 

 

(13). Which term indicates the difference in temperatures of inlet and outlet of 
cooling tower water? | ഼कौन सा शɨ इनलेट तापमान और कूिलंग टॉवर पानी के 
आउटलेट मŐ अंतर को इंिगत करता है? 

(A)   Range | रŐज 

(B)   Approach | पŠंच 

(C)   Blow down | नीचे िगरना 

(D)   Cooling tower efficiency | कूिलंग टॉवर दƗता 

Correct Answer : A 

 

(14). Which schedule is followed for lubricating the cooling tower fan motor in 
package AC? | पैकेज एसी मŐ कूिलंग टॉवर फैन मोटर को लुिŰकेिटंग करने के िलए कौन 
सी अनुसूची का पालन िकया जाता है? 

(A)   Daily | रोज 

(B)   Weekly | साɑािहक 

(C)   Biweekly | सɑाह मŐ दो बार 

(D)   Quarterly | ũैमािसक 

Correct Answer : D 

 



 

 

(15). What is the unit marked as X in cooling tower water treatment? | कूिलंग 
टॉवर जल उपचार मŐ’ X ഻के ŝप मŐ िचि˥त इकाई Ɛा है? 

 

(A)   Injector | इंजेकटोर 

(B)   Condenser | कंडेनसर 

(C)   Water pump | पानी का पंप 

(D)   Ozone generator | ओजोन जनरेटर 

Correct Answer : D 

 

(16). What is the reason for reduction in cooling tower approach? | कूिलंग टॉवर 
अŮोच मŐ कमी का Ɛा कारण है? 

(A)   Dew point temperature of air is low | हवा का ओस िबंदु तापमान कम है 

(B)   Dry bulb temperature of air is low | हवा के सूखे बʛ का तापमान कम होता है 

(C)   Relative humidity of air is high | हवा की सापेƗ आūŊता अिधक है 

(D)   Relative humidity of air is low | सापेƗ आūŊतामापी वायु कम होती है 

Correct Answer : C 

 

(17). Why the bearings of water pump wear and tear fast? | पानी के पंप मे बीयįरंग 
Ɛो ंपहनते हœ और तेजी से फाड़ते हœ? 

(A)   Shaft bent | शाɝ बŐट 



 

 

(B)   Excess of grease | िगरीश की अिधकता 

(C)   Dirt in bearing | बेयįरंग मŐ गंदगी 

(D)   Improper power supply | अनुिचत िबजली की आपूितŊ 

Correct Answer : A 

 

(18). Which cooling tower is provided with open louvers on all four sides? | सभी 
चारो तरफ खुले लाउवसŊ के साथ कौन सा कूिलंग टॉवर िदया गया है? 

(A)   Natural draft cooling tower | Ůाकृितक डŌ ाɝ कूिलंग टॉवर 

(B)   Induced draft cooling tower | Ůेįरत डŌ ाɝ कूिलंग टॉवर 

(C)   Forced draft cooling tower | फोसőड डŌ ाɝ कूिलंग टॉवर 

(D)   Mechanical draft cooling tower | मैकेिनकल डŌ ाɝ कूिलंग टॉवर 

Correct Answer : A 

 

(19). What is the ratio of dissolved solids in circulating water to the make up 
water in cooling tower? | कूिलंग टॉवर मŐ पानी बनाने के िलए पानी को घुमाने मŐ घुिलत 
ठोस का अनुपात Ɛा है? 

(A)   COP 

(B)   COC 

(C)   VOC 

(D)   EER 

Correct Answer : B 

 

(20). Which hand tool is used to remove the bearing drive end of a water pump? | 
पानी पंप के बेयįरंग डŌ ाइव एंड को हटाने के िलए िकस हœड उपकरण का उपयोग िकया जाता 
है? 



 

 

(A)   Plier | ɘायर 

(B)   Puller | पुलर 

(C)   Hammer | हथौड़ा 

(D)   Screw driver | पŐचकस 

Correct Answer : B 

 

(21). Which method of air circulation is used in indoor cooling tower? | इनडोर 
शीतलन टॉवर मŐ वायु पįरसंचरण की िकस िविध का उपयोग िकया जाता है? 

(A)   By using a pump | एक पंप का उपयोग करके 

(B)   Natural convection | Ůाकृितक संवहन 

(C)   Forced convection | फोसőड संवहन 

(D)   By using a compressor | एक कंŮेसर का उपयोग करके 

Correct Answer : C 

 

(22). What is the reason for poor performance of forced draft cooling tower? | 
फोसőड डŌ ाɝ कूिलंग टॉवर के खराब ŮदशŊन का कारण Ɛा है? 

(A)   Increased air flow | वायु Ůवाह मŐ वृİȠ 

(B)   Wind velocity is high | हवा का वेग अिधक होता है 

(C)   Increased water spray | पानी का िछड़काव बढ़ा 

(D)   Fan motor speed is low | पंखे की मोटर की गित कम होती है 

Correct Answer : D 

 

(23). Which mechanism makes up water level in cooling tower basin? | कूिलंग 
टॉवर बेिसन मŐ कौन सा तंũ जल ˑर बनाता है? 



 

 

(A)   Pump | पंप 

(B)   Strainer | Ōː ेनर 

(C)   Nozzles | नोजल 

(D)   Float valve | ɢोट वाʢ 

Correct Answer : D 

 

(24). What is the preventive step taken to reduce Fouling in condenser water 
tubes? | कंडेनसर पानी की निलयो ंमŐ फाउिलंग को कम करने के िलए Ɛा िनवारक कदम 
उठाया गया है? 

(A)   Water treatment | जल उपचार 

(B)   Replace condenser | कंडेनसर बदलŐ 

(C)   Decrease water flow | पानी का बहाव कम होना 

(D)   Replace cooling tower | कूिलंग टॉवर बदलŐ 

Correct Answer : A 

 

(25). What is the advantage of mechanical draft cooling tower? | मैकेिनकल डŌ ाɝ 
कूिलंग टावर का Ɛा फायदा है? 

(A)   Fan not required | फैन की आवʴकता नही ंहोती है 

(B)   More efficient | अिधक कुशल होता है 

(C)   Least expensive | सबसे कम महंगा होता है 

(D)   Occupies large space | बड़ी जगह घेरता है 

Correct Answer : B 

 

 


